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. BEER
PR A 0 1EL
s | VRRM (1) | VDRm (1) | VRsm (1) o
1200 1200 1200 1325
1400 1400 1400 1525 (1) 50Hz/60zHzIF 3% % 4 JE V5 H 40 to+115 °C.
1600 1600 1600 1750 (2) 10 msec. ik 7
1800 1800 1800 2000 (3)Tj=115°C.
2000 2000 2000 2200 (4)67%§EEEEJLVDRMI‘]+M)T~E%. Tj=115°C.
Virw = I 110 25 53 W i B P O -
Viry = 1F [ T 52 1648 HL [ (O) ML L TH% di/dt ARYEEIA/NIMA AR#ERS-

397, Section5-2-2-6.5E X % £A:

Vrsm = S AN T & A HL R (2)

s . 10 mA
I AR B TSGR | o Torn [ o g )
s b T 2R 0 (. dv/dt (4) | 500 V/psec
A
% # g | M KA PORE. | A % 1
AT L Trav 1000 A | SINE,180° FiMT=55"C
T8 AR T WAR Itrms 1570 A
[N 10 msec (50Hz), 1E3%¥%E, 180°F

N=R vy ) s
ANEE SR HLIR Trsm 14000 A W, T, - 125 °C
Pt It 980000 A’s | 10 msec
AR B I 200 mA | Vp=24V;Ri=12 ohms
YEFE LI Iy 200 mA | Vp-24V;1=25A
I {1 308 5 IS b Vin 2.9 2.0 v | Im=3000 A; Tj=25°C
ML BT (5, 6) di/dt 800 Alps AER
AR 0 didt 400 s | BE
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WA T TR FE T 36 P 200 w | b=40us
ST IRFE R R Pgav) 5 W
Vp =6 V;R_ =3 ohms;T; =-40 °C
300 mA | Vp=6 V;R, =3 ohms;Tj=+25
I TAR i & HELY Ior 200 mA | °C
125 mA | Vp=6 V;R_ =3 ohms;T; =
+115°C
Vp =6 V;R_ =3 ohms;T; =-40 °C
5 v Y]D5:C6 V;R, = 3 ohms;T; = 0-
VbR Var 030 3 X Vp = Rated Vpry; Ry = 1000
’ ohms;
T,=+115°C
[ A% J5 Tm) HE A FE T Verm 5 v
FF < i} (8]
. fg | BmAME | EOE | L | T % M
ITM =50 A, VD =67% VDRM
TF3E i 1) ta 1.2 0.7 us | TIAREKMP: V=30 V; Rg = 10
ohms; t. = 0.1 us; t, = 20 us
It > 1000 A; di/dt =25 A/us;
e . Vr>-5V; EIHE dV/dt=
SRR h Vg =- 4 ’
KR (with Ve =-5 V) fa 0 MS | 30¥/us linear to 67% Vg :
T, = 115 °C; Duty cycle > 0.01%
. Irm > 2000 A; di/dt = 50 Alus;
Mk 325 ™ 5 Us;
S 1) PR A LI . A VRZ-SOV;TiZIZSOC
P AL AR 1
. S | EmME | R | RE | % M
4 T, -40 +115 °C
AL Tyig -40 +140 °C
——
gl ARH Ro (o) 0.02 °C/W XA E
——
S Ro ey 0.01 oc/w | MHLH]
GALIR ) P 25 kN
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